Year 4 Maths (Answers) – Week Commencing 22.06.2020
Friday 26.06
[image: ]
[image: ]



4)
5)


	
[bookmark: _GoBack]
Page 1

image4.png
€ Is the odd one out because it is equal to three whole ones and one third. 4, B and b are all equal to three
1hole ones.

Tammy is incorrect because one whole sandilch equals four parts. 42 + 4 = lor2
10 hole sandwiches were eaten - and 2 parts.
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=1 whole.

There are I sixths altogether

1 sisthe = 1 whole and § sithe

There are 14 quarters altogether.

14 quarters = 3 whole ones and 2 quarters

There are 9 thirds altogether.

9 thirds = 3 whals ones

and 0 thirds
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2) There are 12 ffths altogether.
12 ifths = 2 wholes and 2 fifths

4 n 1o [





image3.png
€ Is the odd one out because it is equal to three whole ones and one third. 4, B and b are all equal to three
1hole ones.

Tammy is incorrect because one whole sandilch equals four parts. 42 + 4 = lor2
10 hole sandwiches were eaten - and 2 parts.




